PARALELOGRAMUL

(fisa de lucru)
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ip | ABCD paralelogram ip
m(<xA)=50

ABCD paralelogram

e |4B|=12 cm
a2 C)= . . |BC|=9 em .
m(x D)= /? ? C ‘CDIZ D, /c:
/<50° . / |4D|= t/ f/'g"“
A B Bracn = !‘/ 12em ‘s
ip | DEFG paralelogram ip | ABCD paralelogram
GE ~ DF ={0) AC nDB=1{0}
60| =3 em |[4c|=16 cm
|0F|=5 em |DB|=14 cm
¢ | |o£|= ¢ | |40|=
|pol= T~ 7 | loels
GE|= / o / |po|=
pr- o A jos -
ip | EFGH paralelogram A YE
m(<E)=60"
|EH|=12 em Hy rG
FH L EH 12
¢ | m(<FGH)= |£F|=
(< EFG) = || ARV !
AaEFH este ... 8 ‘HG‘I: o F
m(<EFH) = B.=

ip | ABCD paralelogram
m(<A)=40", m(<ADE)=100"

|DB|=6cm ,  |AB|=8 cm

¢ | m(xABD)= ‘ADl =
aABD este ... |BC|=
m(<ABC)= ‘Dc| =
m(<BCD)= Ppp=
m(xBDC)= B =




ip | MNPQ paralelogram
m(<M)=60"
oN|=7 em
(QN bisectoarea «xMQP

C | m(«<MQP)= |MN|=
m(<MQN) = |me|=
m(=MNQ) = jor|=
aMNQ este ... |ﬁp\ =
m(<QPN)=
Fuveo =
m(<QNP)=

ip | MNPQ paralelogram
m(«<NMP) =25
m(<MNP)=130°
|MN|=8 cm

¢ | m(«<MQP)= |NP| =
m(<NPQ)= [MQ| -
m(<NMQ)= |oP|=
m(<NPM)= -
aMNP este e,

ip | ABCD paralelogram
AC ~DB=|0}
m(«<AOB)=110
m(<DAO) =40
|AB|=8 cm, |40|=5 cm

C | m(«<AOD)= |oc|=
m(<ADO) = |4D|=
m(«<BOC)= \Bc| =
m(<ACB) = |ac|=
2 A0D este ... 7 e




